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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

N&O 2.1 Demonstrates conceptual understanding of rational numbers with respect to: whole
numbers from 0 to 199 using place value, by applying the concepts of equivalency in composing
or decomposing numbers (e.g., 34 =17 + 17; 34 =29 + 5); and in expanded notation (e.g., 141
= | hundred + 4 tens + 1 one or 141 =100 + 40 + 1) using models, explanations, or other
representations; and positive fractional numbers (benchmark fractions: a/2, a/3, or a/4, where a is a
whole number greater than 0 and less than or equal to the denominator) as a part to whole relationship
in area and set models where the denominator is equal to the number of parts in the whole using
models, explanations, or other representations.

@ There are 32 children on a bus. Some
children are sitting on the left side of
the bus and some children are sitting
on the right side of the bus. How many
children might be on each side of
the bus?

O A.30 on the left and 12 on the right
O B. 12 on the left and 20 on the right
O C. 26 on the left and 16 on the right

O D. 32 on the left and 32 on the right



NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

N&O 2.2 Demonstrates understanding of the relative magnitude of numbers from 0 to 199 by ordering
whole numbers; by comparing whole numbers to each other or to benchmark whole numbers (10, 25,
50, 75, 100, 125, 150, or 175); by demonstrating an understanding of the relation of inequality when
comparing whole numbers by using “1 more”, “1 less”, “10 more”, “10 less”, “100 more”, or “100
less”; or by connecting number words and numerals to the quantities they represent using models,
number lines, or explanations.

@ This number line shows the number of
baseball cards Vicky and Dale each have.

Vicky Dale

]

Russell has more cards than Vicky and
fewer cards than Dale. Which list shows
only the numbers of baseball cards
Russell could have?

O A.6,7,8,9

O B.5,6,7,8,9, 10

O C.2,3,4,56,7,8,9

O D.6,7,8,9, 10, 11, 12



NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

N&O 2.3 Demonstrates conceptual understanding of mathematical operations involving addition and
subtraction of whole numbers by solving problems involving joining actions, separating actions,
part-part whole relationships, and comparison situations; and addition of multiple one-digit whole
numbers.

€ Max, Seth, and Pedro each have some
markers.

e Max has 3 markers.

» Seth has 2 fewer markers
than Max.

e Pedro has 5 more markers
than Seth.

How many markers does Pedro have?

O A 1
OB 5
O C. 6
O D. 10



NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

N&O 2.3 Demonstrates conceptual understanding of mathematical operations involving addition and
subtraction of whole numbers by solving problems involving joining actions, separating actions,
part-part whole relationships, and comparison situations; and addition of multiple one-digit whole

numbers.

@ Laura has 6 dolls. How many more
dolls does Laura need so she has
25 dolls altogether?
O A. 19
O B. 21
O C.29
O D. 31



NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

N&O 2.5 Demonstrates understanding of monetary value by adding coins together to a value no greater than
$1.99 and representing the result in dollar notation; making change from $1.00 or less, or recognizing
equivalent coin representations of the same value (values up to $1.99).

@ Jennifer bought a pencil that costs
$0.37. She paid with two quarters.
Which set of coins shows the correct
amount of change Jennifer received?




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

G&M 2.1 Uses properties, attributes, composition, or decomposition to sort or classify polygons or objects
by a combination of two or more nonmeasurable or measurable attributes.

@ You may use the shapes from your
envelope to help you answer this
question.

Lilly put two shapes next to each other
without any gaps or overlaps to make a
new shape.

* The new shape has exactly four
sides.

* All four sides are the same
length.

Which two shapes did Lilly use?

=
JARVA
s

oy




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

G&M 2.6 Demonstrates conceptual understanding of perimeter and area by using models or manipulatives
to surround and cover polygons.

@ Sharon is using spoons to measure the
perimeter of this rectangle.

SHEERES eSS e

What is the perimeter of this rectangle
in spoons?

O A 7

O B. 12

O C. 14

O D. 16



NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

F&A 2.4 Demonstrates conceptual understanding of equality by finding the value that will make an open
sentence true (e.g., 2 + [1=7 ). (limited to one operation and limited to use addition or subtraction)

© Look at this number sentence.

10—6:—1

What number makes this number
sentence true?

O A3
O B. 4
O C.5
O D.6



NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

DSP 2.2  Analyzes patterns, trends, or distributions in data in a variety of contexts by determining or
using more, less, or equal.

@ This line plot shows the number of
chocolate chips in each bag of snack
mix sold at a store.

Snack Mix
X
X X
X X X
X X X X
X X X X X
XX X X X
1 23456 7 8 9 10
Number of Chocolate Chips

Key
x represents 1 bag

How many more bags had 5 chocolate
chips than had 2 chocolate chips?

O A.2

O B.3

O C.6

O D.7



NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

DSP 2.2  Analyzes patterns, trends, or distributions in data in a variety of contexts by determining or
using more, less, or equal.

@ Mrs. Anderson made a pictograph to show the numbers of elephants at three different
zoos. She used this information to make the pictograph.

» Park Zoo has 4 elephants.
* King Zoo has 1 fewer elephant than Park Zoo.
* Hill Zoo has 2 elephants.

Which pictograph did Mrs. Anderson make?

Elephants Elephants
Z00 Number of Z00 Number of
Elephants Elephants
Park Zoo | Y R PR PR Park Zoo | Y 1R PR PR
O A, | King Zoo | Ry Y ) Y P O B, | King Zoo | My
Hill Zoo |l A Hill Zoo | Ry A
Key Key
R represents 1 elephant R represents 1 elephant
Elephants Elephants
Number of Number of
Zoo Elephants Zoo Elephants
Park Zoo | £ Y £ AR Park Zoo | Y ) 10 AR
O . | King Zoo [ R AR O p, | King Zoo | £ 0 1Y AR
Hill Zoo | MR Hill Zoo | M
Key Key
B represents 1 elephant R represents 1 elephant
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

N&O 2.5 Demonstrates understanding of monetary value by adding coins together to a value no greater than

$1.99 and representing the result in dollar notation; making change from $1.00 or less, or recognizing
equivalent coin representations of the same value (values up to $1.99).

@ Tyrone will give exactly 47¢ to his friend. Show or name a set of coins that Tyrone
could give to his friend.

Scoring Guide:

Score

Description

1

Student shows or names a set of coins equaling 47¢.

0

Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank

No response
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1
(ExampLE A)

@ Tyrone will give exactly 47¢ to his friend. Show or name a set of coins that Tyrone
could give to his friend.

_Ydumes

nickel ——

2 nNenN /.S
( /

The student’s response is correct.

Score Point 1
(ExampLE B)

@ Tyrone will give exactly 47¢ to his friend. Show or name a set of coins that Tyrone
could give to his friend.

&) €)@
(0 (¢ =474

The student’s response is correct.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1
(ExampLE C)

@ Tyrone will give exactly 47¢ to his friend. Show or name a set of coins that Tyrone
could give to his friend.

® @O CEDEI
o 907 p pﬂpﬂy
§ P2 eppPpPoy
be DD HO

The student’s response is correct.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 0
(ExampLE A)

@ Tyrone will give exactly 47¢ to his friend. Show or name a set of coins that Tyrone
could give to his friend.

© 66 @¢

The student’s response is incorrect.

Score Point 0
(ExamprLE B)

@ Tyrone will give exactly 47¢ to his friend. Show or name a set of coins that Tyrone
could give to his friend.

00000 00000 00 o
000000000 00 OO0 0D O
0000000 0do000p000
00 Y74

The student’s response is incorrect. Student does not indicate that each
circle represents a penny.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

G&M 2.6 Demonstrates conceptual understanding of perimeter and area by using models or manipulatives
to surround and cover polygons.

@ Use the square-inch tiles from your envelope to find the area of the shape shaded
gray.

What is the area of the shape shaded gray? Write your answer on the line below.

square inches

Scoring Guide:

Score Description

1 for correct answer, 10

0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank | No response
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1
(ExampLE A)

@ Use the square-inch tiles from your envelope to find the area of the shape shaded
gray.

What is the area of the shape shaded gray? Write your answer on the line below.

The student’s response is correct.

square inches

16




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1
(ExampLE B)

@ Use the square-inch tiles from your envelope to find the area of the shape shaded
gray.

What is the area of the shape shaded gray? Write your answer on the line below.

16

The student’s response is correct. (Showing work is not required.)

square inches

17




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 0

@ Use the square-inch tiles from your envelope to find the area of the shape shaded
gray.

3

What is the area of the shape shaded gray? Write your answer on the line below.

L}g I*S square inches

The student’s response is incorrect.

18




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

DSP 2.1 Interprets a given representation (pictographs with one-to-one correspondence, line plots,

tally charts, or tables) to answer questions related to the data, or to analyze the data to formulate
conclusions. (IMPORTANT: Analyzes data consistent with concepts and skills in M(DSP)-2-2.)

@® This tally chart shows the number of students in three different classes.

Class Number of Students
Mr. Harrison’s | M1 M1 AT ||
Miss Kay’s e l
Mrs. Garcia’s | JMT T AT |11

Rosa said, “I can use this tally chart to tell how many boys are in Miss Kay’s
class.” Explain why Rosa’s statement is correct or why Rosa’s statement is incorrect.

Scoring Guide:

Score Description
1 Student gives a correct explanation.
0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.
Blank | No response

19



NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1

@ This tally chart shows the number of students in three different classes.

Class Number of Students

Mr. Harrison’s | T T LT ||
Miss Kay’s ,I/H’f ,I/H’f J/HT J/HT
Mrs. Garcia’s | JHT AT U1 ||

Rosa said, “I can use this tally chart to tell how many boys are in Miss Kay’s
class.” Explain why Rosa’s statement is correct or why Rosa’s statement is incorrect.

Rosa DS S‘l‘ﬁ*‘mmlr 1S Ncorrecd

Lcco«usf 4 dovsn’ Jrc\' whick
5 fudent [ boys and which students

AV e @'Y‘

The student’s explanation is correct.

20




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 0

@ This tally chart shows the number of students in three different classes.

Class Number of Students

Mr. Harrison’s | W1 T AT ||
Miss Kay’s ,I/H’f ,I/H’f J/HT J/HT
Mrs. Garcia’s MW T

Rosa said, “I can use this tally chart to tell how many boys are in Miss Kay’s
class.” Explain why Rosa’s statement is correct or why Rosa’s statement is incorrect.

ﬂ“nl/\ ,H\CY\(@ Mor€ bon
bemuja ﬂ'\ﬁ\{ (€ N 0
mo\n‘ Lo,/ In H‘f/
WOr\da

The student’s explanation is incorrect.

—_
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

N&O 2.1

Demonstrates conceptual understanding of rational numbers with respect to: whole

numbers from 0 to 199 using place value, by applying the concepts of equivalency in composing

or decomposing numbers (e.g., 34 =17 + 17; 34 =29 + 5); and in expanded notation (e.g., 141

=1 hundred + 4 tens + 1 one or 141 = 100 + 40 + 1) using models, explanations, or other
representations; and positive fractional numbers (benchmark fractions: a/2, a/3, or a/4, where a is a
whole number greater than 0 and less than or equal to the denominator) as a part to whole relationship
in area and set models where the denominator is equal to the number of parts in the whole using
models, explanations, or other representations.

1
@ Four students shaded these shapes gray to show 3 of a whole.

Eva Zach Ginny Walter

1
Which students showed 3 correctly? Explain how you know.

Scoring Guide:

Score

Description

2 for correct answer, Eva and Zach, with sufficient explanation

for correct answer, Eva and Zach, with insufficient or no explanation given
1 OR

for sufficient explanation with missing answer

Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.

Blank | No response

22




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score PoInT 2
(ExampLE A)

1
@ Four students shaded these shapes gray to show 3 of a whole.

Eva Zach Ginny Walter

1
Which students showed 73 correctly? Explain how you know.

F/\/O\ 0&6\ ZD\(‘_\\ 90\' \l\'

L(X‘oe,clr\g \OQK»U\D\GQ/

)F\\Q\lj ('\0‘6\@ O(‘\y \)nre.b Quc\s
0@& \\ne,\\’ wele 0\\ eqe\\

M on \
WI ony Q0e/ C
s\m&e&_y \

The student’s response is correct, with sufficient explanation given.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 2
(ExamprLE B)

1
@ Four students shaded these shapes gray to show 3 of a whole.

Eva Zach Ginny Walter

. 1 :
Which students showed 73 correctly? Explain how you know.

Eva 0 Tuch showed = (01 CH

Ja
i Voo Yhat poause 1. all P“‘LS
e equal, Al et or U S part-
OFC W(dt

The student’s response is correct, with sufficient explanation given.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score PoInT 2
(ExampLE C)

1
@ Four students shaded these shapes gray to show 3 of a whole.

Eva Zach Ginny Walter

1
Which students showed 7 correctly? Explain how you know.

- €'v i‘#“fi@é Shw@
M7 betay g, .

zslnfw wo tF%

Sint & fs g,
!_,{..—q// T —

The student’s response is correct, with sufficient explanation given.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1
(ExampLE A)

1
@ Four students shaded these shapes gray to show 3 of a whole.

Eva Zach Ginny Walter

1
Which students showed 3 correctly? Explain how you know.

Eva Zach

T K now becalSE
Euva and 7 501, looth haVe

3 and A 1S Shaded .

The student’s response is correct, with insufficient explanation. Student must have the concept of three equal parts
in explanation.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1
(ExamprLE B)

1
@ Four students shaded these shapes gray to show 3 of a whole.

Eva Zach Ginny Walter

1
Which students showed 3 correctly? Explain how you know.

O\C\r\ (chl + Vel

equAl  PeaCes (ihd
Shaded dhe.

The student’s response is incorrect, with a sufficient explanation.

27




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 0
(ExampLE A)

1
@ Four students shaded these shapes gray to show 3 of a whole.

Eva Zach Ginny Walter

1
Which students showed 3 correctly? Explain how you know.

Wo
She

+er nds "!:3"' how

“(-261 and 31 ﬂ()‘(*.

The student’s

response is incorrect, with an incorrect explanation.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 0
(ExampLE B)

1
@ Four students shaded these shapes gray to show 3 of a whole.

Eva Zach Ginny Walter

1
Which students showed 3 correctly? Explain how you know.

Fu 10«4_\-;&‘\}* Gd\'\\)’ \\o‘k 3
,0\) '

3
Lo((q,(}\\‘} be couse the eﬂi\‘\ hod

*\\Fu \\\ﬂo)g o\pk}., e WIS co\aret\
I

The student’s response is incorrect, with an incorrect explanation.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

N&O 2.2 Demonstrates understanding of the relative magnitude of numbers from 0 to 199 by ordering
whole numbers; by comparing whole numbers to each other or to benchmark whole numbers (10, 25,
50, 75, 100, 125, 150, or 175); by demonstrating an understanding of the relation of inequality when
comparing whole numbers by using “1 more”, “1 less”, “10 more”, “10 less”, “100 more”, or “100
less”; or by connecting number words and numerals to the quantities they represent using models,
number lines, or explanations.

@ Look at this number line.

100 110 120 130 140 150

a. Circle the point on the number line that represents 10 more than 124.

b. What number is 100 less than the number you circled in part a?

Scoring Guide:

\/

Score Description
2 for correct answers in part a, 134, and in part b, 34
for correct answer in part a only
OR
1 for correct answer in part b only
OR
for correct answer in part b based on an incorrect answer in part a
0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.
Blank [No response
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score PoInT 2

15)

Look at this number line.

100 110 120 130 140

a. Circle the point on the number line that represents 10 more than 124.

Part a: The student’s response is correct.

b. What number is 100 less than the number you circled in part a?

Y

Part b: The student’s response is correct.

31




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1
(ExampLE A)

@ Look at this number line.

100 110 130 140

a. Circle the point on the number line that represents 10 more than 124.

Part a: The student’s response is incorrect.

b. What number 1s 100 less than the number you circled in part a?

Part b: The student’s response is correct based on the answer to part a.

150

32




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1
(ExampLE B)

@ Look at this number line.

4t o

100 110 120 130 140

a. Circle the point on the number line that represents 10 more than 124.

Part a: The student’s response is correct.

b. What number is 100 less than the number you circled in part a?

L4

Part b: The student’s response is incorrect.

150

Y
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 0

@ Look at this number line.

P | | A |

LR (W o
100 110 120 130 140

a. Circle the point on the number line that represents 10 more than 124.

Part a: The student’s response is incorrect.

b. What number is 100 less than the number you circled in part a?

I+ S |0

Part b: The student’s response is incorrect.

34




NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

F&A 2.1 Identifies and extends to specific cases a variety of patterns (linear and non-numeric) represented
in models, tables, or sequences by extending the pattern to the next element, or finding a missing
element (e.g.,2,4,6 ___, 10).

@ Latoya made this number pattern. She covered some of the numbers with shapes.
14, , 22, 26, B0,0

a. What number did Latoya cover with ?

b. What number did Latoya cover with O‘?

Scoring Guide:

Score Description
2 for correct answers in part a, 18, and part b, 34
for correct answer in part a only
OR
1 for correct answer in part b only
OR
for reversing answers in part a and part b
0 Response is incorrect or contains some correct work that is irrelevant to the skill or
concept being measured.
Blank |No response
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score PoInT 2

@ Latoya made this number pattern. She covered some of the numbers with shapes.

14, , 22, 26, 30, O

a. What number did Latoya cover with ? ) g

Part a: The student’s response is correct.

b. What number did Latoya cover with O? : 4

Part b: The student’s response is correct.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1
(ExampLE A)

@ Latoya made this number pattern. She covered some of the numbers with shapes.

22, 26, 30, ’

a. What number did Latoya cover with .?

Part a: The student’s response is incorrect.

b. What number did Latoya cover with O?

Part b: The student’s response is correct.
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NECAP 2013 RELEASED ITEMS
GRADE 3 MATH

Score Point 1
(ExampLE B)

@ Latoya made this number pattern. She covered some of the numbers with shapes.
14, , 22, 26, 30, O

a. What number did Latoya cover with ?

The student reverses answers in part a and part b.

b. What number did Latoya cover with O?

The student reverses answers in part a and part b.
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NECAP 2013 RELEASED ITEMS

GRADE 3

MATH

Score Point 0

@ Latoya made this number pattern. She covered some of the numbers with shapes.

14, , 22, 26, 30, O

a. What number did Latoya cover with

5

Part a: The student’s response is incorrect.

b. What number did Latoya cover with O? 3 I

Part b: The student’s response is incorrect.
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